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RIFEIZE AR
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1.3. &Gwmd

SYSTem:SENSe 4 H Tz s #M D Re i IF a8 5 50 .
fir&iE1E SYSTem:SENSe[:STATe] <bool>
2% 0| 1| OFF | ON {7 OFF

-1 SYST:SENS ON

EiEE | SYSTem:SENSe[:STATe]?
BREZE |01

1.4, KEGS

1.4.1 INPut BAEEH
A2 TR AT R 8O H .
frAiEE  INPut <bool>
Z¥  0|1|0FF|ON
B+  INP 1
B INPut?
REZE 0| 1

1.4.2 INPut:SHORt Bten4 H T N BRI ge ezt
f A7 INPut:SHORt <bool>
Z¥ 0|1| OFF | ON



#1¥ INP:SHOR 1
EYE INPUt: SHORLt?
RFIZE 01

1.4.3 CURRent:RANGe
B A T B IR . 0 JEFFHIR /MY, 1 &R AR,
fAiEyE CURRent:RANGe <NR1>

ZH 01
RV

¥ CURR:RANGE 0
IV CURRent : RANGe?
REZH 01

1.4.4VOLTage:RANGe
LA A T B R ANAL.0 R /MY, 1 B R R
Ay VOLTage:RANGe <NR1>

ZH 01
VA

-7~ VOLT:RANGE 0
TfIEY: VOLTage:RANGe?
REZH 01

1.4.5 CURRent:SLEW:RISE
4 T 3E R BT R,
41875 CURRent :SLEW:RISE <NRf>

28 0-3
AT A/uS

5 CURR:SLEW:RISE 3
Trif)iEVE CURRent:SLEW:RISE?
REISH <NR2>

1.4.6 CURRent:SLEW:FALL
a4 T B B B PR
f4iH% CURRent:SLEW:FALL <NRf>

S 0-3
AT A/uS

5  CURR:SLEW: FALL 3
TiiEYE CURRent:SLEW: FALL?
REISH NR2>



1.4.7 CURRent:PROTection
a4 F % B A .
firAi8%:  CURRent:PROTection <NRf>
5 0 KHRE
B A
-  CURR:PROT 3
if)iE¥:  CURRent:PROTection?
RFEIZH NR2>

1.4.8 POWer:PROTection
4 H T3 B DR R E .
#frAiE%  POWer:PROTection <NRf>
ZH - KRIIFEE
BAr W
17 POW:PROT 100
BWNIEVE POWer :PROTection?
RFEIZH NR2>

1.4.9 VOLTage:ON
I A4 F T v B A BRI T i s 2 FEUR L (Von)
frAiEY: Voltage:ON <NRf>
ZH 0- B KHIEE
BAL OV
#-F  VOLT:ON 3
BETE VOLTage : ON?
RFIZH NR2>

1.4.10 VOLTage:OFF
I 4 T8 B Ak T A6 ) 3 B (Vof £)
A Voltage:OFF <NRf>
ZH 0- e KHEME
LR VAR
%+  VOLT:OFF 2
E)iEE  VOLTage:OFF?

RIEIZE <KNR2>

1.4.11 MODE
FH T B A # rdm A AR
WA EY: MODE <function>
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CURRent & HLyERAERZL
VOLTage & HL EER/EMER
POWer E D3R AR
RESistance 7€ L PH e R AR

DYNamic BhAEAERE R
LED LED =z

51— MODE RES
E)IEYE - MODE?
iREZ#  <function>

1.4.12 CURRent
& T3 E CC iR I 3E iR .
fir418%:  CURRent <NRf>
8 0-f K
AL A
%7 CURR 5
if)iE7: CURRent?

RIFIZE <NR2>

1.4.13 VOLTage
S HFRE OV R E B E.
fr4iB%: VOLTage <NRf>
ZH 0 - mRAKHE
LR VA
#%F  VOLT 5
TIEYE VOLTage?

RIEIZE <KNR2>

1.4.14 POWer
Mdr S H Tk E CP MU N B E IR,
frAiEvk  POWer <NRf>
ZH 0- mKIE
AL W
7 POW 10
EHIHEYE POWer?
iR [EZ# <NR2>

1.4.14 RESistance
4 T3 E CR MR I BE L FH .
fr4iE¥E  RESistance <NRf>
Z¥ 0-7000
AT ohm
#-F  RES 5
Trf)iEYE  RESistance?



xEISH <NR2>

1.4.15 DYNamic:HIGH
Iy & H T B 3l = 0 AL b 2 R i
487k DYNamic:HIGH <NRf>
S8 - KHME
BAL A
%  DYN:HIGH 10
#iEV: DYNamic:HIGH?
REIZH < NR2>

1.4.16 DYNamic:HIGH:DWELI
I A F T3 B A BN 16 i AL 2 TR B ]
#4181 DYNamic:HIGH:DWELI <NRf>
Z¥ 0.00001 ~ 50
AL s
157 DYN:HIGH:DWELL 0.01
)15 DYNamic:HIGH:DWELI?
RIFIZH < NR2>

1.4.17 DYNamic:LOW
a4 T 5 B Sh A AR HE AL dr 2 F
frAiEY: DYNamic:LOW <NRf>
ZH O-l KHLUE
BAL A
-7  DYN:LOW 1
if)iEy: DYNamic:LOW?
RIFEIZH < NR2>

1.4.18 DYNamic:LOW:DWELI

I 4 T8 B Sh AR AR T 2 L LR LI (7]
#ir 4155 DYNamic:LOW:DWELI <NRf>

2% 0.00002 ~ 0.999

HAL s

#¥ DYN:LOW:DWEL 10

Arif)iEv: DYNamic:LOW:DWELI?

RIFIZH < NR2>

1.4.19 DYNamic:SLEW
A4 T3 B S B R AR
fir 41575 DYNamic:SLEW <NRf>
28 0-3

B AluS



#1F DYN:SLEW 3

if)iE7%: DYNamic:SLEW?

RFIZH < NR2>

1.4.20 DYNamic:SLEW:RISE
S AT o S ) FrON £ W= = T <8
41k DYNamic:SLEW:RISE <NRf>

ZH 0-3
A AluS

-  DYN:SLEW 3
HHEY: DYNamic:SLEW:RISE?
REISH  <NR2>

1.4.21 DYNamic:SLEW:FALL
13 T Ry R R 0] o e W 1 B
A1 DYNamic:SLEW:FALL <NRf>
Z4 0-3
AL AluS
%17 DYN:SLEW:FALL 3
A if)iE7% DYNamic:SLEW:FALL?
RIFIZH < NR2>

1.4.22 DYNamic:MODE
Iy & T & B aaE N TAER A
A&y DYNamic:MODE <mode>
2%t CONTinuous | PULSe | TOGGle
=EDA[:] CONTinuous
-+  DYN:MODE PULS
#)iEvE  DYNamic:MODE?
RFZE <mode>

1.4.23 LED:VOLTage
a4 H T % & LED Vo

A iE¥E LED:VOLTage <NRf>
ZH 0.001-H KB EE
-7 LED:VOLT 18
fIEYE LED:VOLT?

A <NR2>

1.4.24 LED:CURRent
4 T % E LED To
i A1E¥E LED:CURRent <NRf>
ZH - KA
¥ LED:CURR 0. 35
fIEYE LED:CURR?



J&[E <NR2>

1.4.25 LED:RCOeff
A T 1% E LED Rd Coeff.
fir4i8%L  LED:RCOeff <NRf>
Z% 0.001-1
¥  LED:RCO 0.2
rf)iEYE LED:RCO?
iz[E - <NR2>

1.5 MEMS

1.5.1 MEASure:VOLTage?
I A4 BT B2 R P 3
A&k MEASure:VOLTage?
fl-F  MEAS:VOLT?
REIZH <NR2>

1.5.2 MEASure:VOLTage:MAXimum?
I T B R IE(H Vp+.
2 iEvE MEASure:VOLTage : MAXimum?
f]F  MEAS:VOLT:MAX?
R[EIZH <NR2>

1.5.3 MEASure:VOLTage:MINimum?
s TS e B /ME Vp—o
187k MEASure:VOLTage :MINimum?
%lF  MEAS:VOLT:MIN?
REIZH <NR2>

1.5.4 MEASure:VOLTage:PTPeak?
i A F T s U R I & {E. Vpp.
frAiE7%E  MEASure:VOLTage:PTPeak?
ffF  MEAS:VOLT:PTP?
RFEIZE <NR2>

1.5.5 MEASure:CURRent?
i A FH T s B - 2ME
18y MEASure:CURRent?
f5]-F-  MEAS:CURR?
R[EIZH <NR2>



1.5.6 MEASure: CURRent:MAXimum?
I A F TR e A Vp+s
fir 4 1E7%: MEASure:CURRent:MAXimum?
%17 MEAS:CURR:MAX?
REIZ4 <NR2>

1.5.7 MEASure: CURRent:MINimum?
A4 F TR R R /MEL Vs
2 iEvE MEASure:CURRent :MINimum?
17 MEAS:CURR:MIN?
REIZH <NR2>

1.5.8 MEASure:CURRent:PTPeak?
It A F T e ECR g Tpp

i 2iEyE  MEASure:CURRent:PTPeak?
#F  MEAS:CURR:PTP?

RIFEIZEL <KNR2>

1.5.9 MEASure:POWer?
A4 F T2 2P 3518
A 1EYE MEASure:POWer?
l-F MEAS:POWer?
REIZH <NR2>

1.5.10 MEASure:RESistance?
I A4 FH T 2 A BE AT
fr&18%E  MEAS:RESistance?
f5]-F-  MEAS:RESistance?
RHIZH <NR2>

1.6 OCP ik #4pS

1.6.1 OCP
a4 T R shaifs ik ocP it
frAiEvk  0CP <bool>
Z¥ 0] 1| OFF | ON
i OCP ON
TIEE 0CP?
wkE 0] 1



1.6.2 OCP:ISTart
ar & T % E OCP Eaf iR
firAiByE OCP:ISTart <NRf>
8 0-F KH
BALA
¥  OCP:IST 3
AiEV:  OCP:ISTart?
&\ < NR2>

1.6.3 OCP:IEND
& H T3 E 0CP Ak i
firAiB4: OCP:IEND <NRf>
8 0-f K
AL A
¥  OCP:IEND 6
HIEYE OCP:IEND?
iz[E < NR2>

1.6.4 OCP:STEP
Han A H T % E oCP iR T E%
firAiB4E OCP:STEP <NR1>
Z¥ 1" 1000
i  OCP:STEP 500
HIEYE OCP:STEP?
iRE <NR2>

1.6.5 OCP:DWELI
WA T B 0CP b It B I A
A iEyE OCP:DWEL1 <NRf>
Z¥ 0.00001 ~ 0.99999
AL S
##F  OCP:DWEL 0.01
HEYE OCP:DWEL?

i&[E < NR2>

1.6.6 OCP:VTRig
A4 T E OCP fil % HiF
frAiE¥E OCP:VIRig <NRf>
S - KHEE

Bfr oV



%7 OCP:VTR 11.8
AL OCP:VTRIg?
RE < NR2>

1.6.6 OCP:RESult

Ay AT 0CP S H i E

frAiEy%k  OCP:RESult?

iR A& <NRf>

-1 RoRMNA AR 4

-2 FORHEI YR B R R Virig, EIRIFEAN OCP {RIRES
BT A

#l-F  OCP:RES?

RE 4,68

1.6.7 OCP:RESult:PMAX

a4 T & PMAX /4

fir 4187 OCP:RESult:PMAX?

R ZE <NR2>, <NR2>, <NR2>

BAL W, V, A

#1F OCP:RES:PMAX?

iR[H] 55.34, 11.8, 4.69

Fon PMAX Sl KT %y 55.34W, HETHLENY 11.8V, HIEAN 4.69A

1.7 Timing iR 4

1.7.1 TIMing:LOAD:MODE

A AT E Timing R R 20 =
iy TIMing:LOAD:MODE <mode)>
Z%  CURR | VOLT | POW | RES | OFF
¥ TIM:LOAD:MODE CURR

TfEY:  TIMing:LOAD:MODE?

izAl <mode>

1.7.2 TIMing:LOAD:VALue
Hdr A T %8 Timing MARN K83 S5
fr 4Bk TIMing:LOAD:VALue <Nrf+>
¥ A/ V / W/ ohm HPT TIMing:LOAD:MODE
57  TIM:LOAD:VAL 1
TIEY:  TIMing:LOAD:VALue?
R[E] <NR2>

1.7.3 TIMing:TSTart:SOURce
w4 T 50 LR Sl k0 fid



mAiEyE TIMing:TSTart:SOURce <source>
Z¥ VOLT | CURR | EXT
fl-F  TIM:TST:SOUR VOLT
g TIMing:TSTart:SOURce?
kAl <{source>

1.7.4 TIMing:TSTart:EDGE
I 2 T 15 B A 20t i fi & s
AiEyE TIMing:TSTart:EDGE <edge>
Z¥  RISE | FALL
f-F  TIM:TST:EDGE RISE
TfiEYE TIMing:TSTart:EDGE?
kA <edge>

1.7.5 TIMing:TSTart:LEVel

Ity A H 1% B S shillat 0 fi k H

fir 18 TIMing:TSTart:LEVel <NRf>

ZH BT R & IE, B Timing:TSTart: SOURce
%7 TIM:TST:LEV 1

EHiEYE TIMing:TSTart:LEVel?

RE <NR2>

1.7.6 TIMing:TEND:SOURce
W 4 FH T8¢ B 45 A ) flk A U
#ir41E¥: TIMing: TEND:SOURce <source>
2% VOLT | CURR | EXT
%17 TIM:TEND:SOUR VOLT
B TIMing: TEND:SOURce?
1[G <source>

1.7.7 TIMing:TEND:EDGE
b ar4 TR B 42 RN iR &R
#4iB%  TIMing TEND:EDGE <edge>
Z¥ RISE|FALL
BlF  TIMTEND:EDGE RISE
FiE%  TIMing TEND:EDGE?
1R [E <edge>

1.7.8 TIMing:TEND:LEVel
b in$ AT R BRI A fh % B
#w4iB%  TIMing TEND:LEVel <NRf>
S8 BURTREsMf%IER, B Timing:TEND:SOURce
BIF  TIMTEND:LEV 1
EFiIB%.  TIMing: TEND:LEVel?
1R [g] <NR2>



1.7.9 TIMing:RESult
&S AT &N Timing MiRER
EE TIMing:RESult?

BT S
BlF  TIM:RES?
1R[] <NR2>

1.8 Batt MiX &<

1.8.1 BATT:STOP:VOLT
S ATREFLIBE
#4i8%  BATT:STOP:VOLT <NRf>
flF  BATT:STOP:VOLT 1
FiFiEE  BATT.STOP:VOLT?
1[G <NR2>

1.8.2 BATT:STOP:CAP
kAT REFLIEE
#4i8%  BATT:STOP: CAP <NR1>
f5]%  BATT:STOP: CAP 1
FiHiE%  BATT:STOP: CAP?
1[G <NR2>

1.8.3 BATT:STOP:TIME
thar4 TR EE LR (8
#4iB%  BATT:STOP:VOLT <NR1>
5]%  BATT:STOP:TIME 1
#iFiB%  BATT:STOP: TIME?
1R [g] <NR2>

1.8.4 BATT:MODE
b AR EMBERR
#4iB%  BATT:MODE <mode>
Z¥  CC|CWICR
5%  BATT: MODE CC
EFiEiE%R  BATT: MODE?
1R [g] < mode >



1.8.5 BATT:UNIT
than4 TR BB RN B AL
#IEE BATT:UNIT <unit>
S AHWH
f5lF  BATT: UNIT AH
FiiEE  BATT: UNIT?
1R[E] < unit >

1.8.6 BATT:TIME?
I #S BAFEE BATT AT jE]
WmiELE BATTTIME?

BALS
-+ BATT:TIME?
1R [g] <NR1>

1.8.7 BATT:CAP?
thé$ ATENR BATT IR AE
#w4iB%  BATT:CAP?
BAL mAH 5 WH
f5lF  BATT:CAP?
1 [9] <NR2>

1.9 AUTO i #n 4

1.9.1 AUTO:FILE
i< AT B s R S e
#4iB%  AUTO:FILE < NR1>
2% <NR1>1-8
BlF  AUTO:FILE 1
EFEFEE  AUTOFILE?
RE < NR1>



